

**INVOICE TO** 

killeen, TX 76541

101 N. College Street

**ACCOUNTING / PAYMENT TERMS:** 

ISSUED PURCHASE ORDER:

City of Killeen

VENDOR ID:

The Cleaning Guys, LLC. 5255 Teague Road Ft. Worth, TX 76140

PHONE # 817-483-8181 FAX # 817-483-5887

Net 30

## **INVOICE**

**INVOICE** # 249113BB **DUE DATE:** 6/23/2023

SITE LOCATION City of Killeen E. Elm and Cunningham Rd. Killeen, TX POC: Joe Stuart 254.768.4197 **RESPONSE COMPLETION DATE:** 4/14/2023 SALESPERSON: Trey Franklin INTERNAL CG JOB# 3-230387

ITEM	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
	CG provided all labor, transportation, equipment, and supplies to a paint spill (illegal dumping of paint in creek); and transported waste for proper disposal.			
	***03-23-23***			
	LABOR			
General Foreman	Hourly Rate/ER	4	112.50	450.00
Resource/Logistics Coordin	Hourly Rate/ER	4	97.50	390.00
	TRUCKS & EQUIPMENT			
Pick-Up Truck	Daily Rate - 1/2 Ton or Smaller	1	150.00	150.00
Fuel Surcharge	Based on current week, all grades formulation for the average fuel prices as posted by the U.S. Dept. of Energy	1	24.00	24.00
	***03-24-23***			
	LABOR			
General Foreman	Hourly Rate	8	75.00	600.00
General Foreman	Hourly Rate/OT	6.25	112.50	703.13
Technician - HazMat	Hourly Rate	8	70.00	560.00
Technician - HazMat	Hourly Rate	6.25	105.00	656.25
Technician - HazMat	Hourly Rate	4	70.00	280.00
	TRUCKS & EQUIPMENT			
3/4 Ton Pick-Up / Dually Truck	Daily Rate	1	250.00	250.00

CG ENVIRONMENTAL / CLEANING GUYS TAX ID: 26-4448858



The Cleaning Guys, LLC. 5255 Teague Road Ft. Worth, TX 76140

PHONE # 817-483-8181 FAX # 817-483-5887

#### **INVOICE TO** City of Killeen 101 N. College Street killeen, TX 76541 **ACCOUNTING / PAYMENT TERMS:** Net 30 ISSUED PURCHASE ORDER: VENDOR ID:

### **INVOICE**

**INVOICE** # 249113BB **DUE DATE:** 6/23/2023

SITE LOCATION City of Killeen E. Elm and Cunningham Rd. Killeen, TX POC: Joe Stuart 254.768.4197 **RESPONSE COMPLETION DATE:** 4/14/2023 SALESPERSON: Trey Franklin INTERNAL CG JOB# 3-230387

ITEM	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
Fuel Surcharge	Based on current week, all grades formulation for the average fuel prices as posted by the U.S. Dept. of Energy	1	40.00	40.00
Pick-Up Truck	Daily Rate - 1/2 Ton or Smaller	1	150.00	150.00
Fuel Surcharge	Fuel Surcharge	1	24.00	24.00
	MATERIALS & SUPPLIES			
Level D PPE	Price Per Tech / Per Day	2	40.00	80.00
Leather Work Gloves	Price per Pair	2	18.00	36.00
	***03-25-23***			
	LABOR			
General Foreman	Hourly Rate	8	75.00	600.00
General Foreman	Hourly Rate/OT	2.25	112.50	253.13
Technician - HazMat	Hourly Rate	6.5	70.00	455.00
Technician - HazMat	Hourly Rate	4.5	70.00	315.00
	TRUCKS & EQUIPMENT			
3/4 Ton Pick-Up / Dually Truck	Daily Rate	1	250.00	250.00
Fuel Surcharge	Fuel Surcharge	1	40.00	40.00
Pick-Up Truck	Daily Rate - 1/2 Ton or Smaller	2	150.00	300.00
Fuel Surcharge	Fuel Surcharge	2	24.00	48.00
	MATERIALS & SUPPLIES			
Level D PPE	Price Per Tech / Per Day	3	40.00	120.00
Leather Work Gloves	Price per Pair	3	18.00	54.00

CG ENVIRONMENTAL / CLEANING GUYS TAX ID: 26-4448858



**INVOICE TO** 

killeen, TX 76541

VENDOR ID:

101 N. College Street

**ACCOUNTING / PAYMENT TERMS:** 

ISSUED PURCHASE ORDER:

City of Killeen

The Cleaning Guys, LLC. 5255 Teague Road Ft. Worth, TX 76140

PHONE # 817-483-8181 FAX # 817-483-5887

Net 30

**INVOICE** 

INVOICE # 249113BB **DUE DATE:** 6/23/2023

SITE LOCATION City of Killeen E. Elm and Cunningham Rd. Killeen, TX POC: Joe Stuart 254.768.4197

RESPONSE COMPLETION DATE:	4/14/2023
SALESPERSON:	Trey Franklin
INTERNAL CG JOB#	3-230387

		_	_	
ITEM	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
Chest Waders	Price per Pair	1	65.00	65.00
	TRUCKING TREV			
	TRUCKING - T-REX			_
Super Sucker	Unit HV090	7.5	346.67	2,600.03
Super Sucker	Unit HVC115 - no charge	0	0.00	0.00
Super Sucker	Unit HVC116	7.5	346.67	2,600.03
6" Suction / Discharge Hose	6" Flex Hose on Unit HV090 - per foot	200	3.34	668.00
	***03-27-23 <b>**</b> *			
	LABOR			
General Foreman	Hourly Rate	3.25	75.00	243.75
Technician - HazMat	Hourly Rate	3.25	70.00	227.50
	TRUCKS & EQUIPMENT			
3/4 Ton Pick-Up / Dually Truck	Daily Rate	1	250.00	250.00
Fuel Surcharge	Fuel Surcharge	1	40.00	40.00
	MATERIALS & SUPPLIES			
Level D PPE	Price Per Tech / Per Day	2	40.00	80.00
Leather Work Gloves	Price per Pair	2	18.00	36.00
	***04-14-23***			
	LABOR			
Technician - HazMat	Hourly Rate	3.5	70.00	245.00
	TRUCKS & EQUIPMENT			

CG ENVIRONMENTAL / CLEANING GUYS TAX ID: 26-4448858



The Cleaning Guys, LLC. 5255 Teague Road Ft. Worth, TX 76140

PHONE # 817-483-8181 FAX # 817-483-5887

INVOICE # 249113BB DUE DATE. 6/23/2023

**INVOICE** 

**INVOICE TO** City of Killeen 101 N. College Street killeen, TX 76541 ACCOUNTING / PAYMENT TERMS: Net 30 ISSUED PURCHASE ORDER: VENDOR ID:

	DUE DATE:	0/23/2023
SITE LOCATION		
City of Killeen E. Elm and Cunningha Killeen, TX POC: Joe Stuart 254.768.4197	m Rd.	
RESPONSE COMPLETION	N DATE:	4/14/2023
SALESPERSON:	Trey I	Franklin
INTERNAL CG JOB# 3-230387		

ITEM	DESCRIPTION	QTY	UNIT PRICE	LINE TOTAL
3/4 Ton Pick-Up / Dually Truck	Daily Rate	1	250.00	250.00
Fuel Surcharge	Fuel Surcharge	1	40.00	40.00
	MATERIALS & SUPPLIES			
Level D PPE	Price Per Tech / Per Day	1	40.00	40.00
Leather Work Gloves	Price per Pair	1	18.00	18.00
Miscellaneous	Fuzion Trucking 4/11 - 4/14	1	25,680.00	25,680.00
Miscellaneous	United Rentals (partial return)	1	41,693.41	41,693.41
	5 Tanks - 3/25 - 4/11			
	includes delivery and set up			
Miscellaneous	United Rentals (last box returned)	1	1,682.63	1,682.63
Miscellaneous	United Rentals - Deliver boxes to wash facility, Wash	1	8,192.27	8,192.27
	and Pickup			
	DISPOSAL			
TCEQ Report	Price per Report	1	1,000.00	1,000.00
Analytic Testing	RCI	1	2,800.00	2,800.00
	TCLP Metals			
	TCLP Volatiles			
	Tx1005 TPH			
Disposal Fee Per Gallon	Liquid: Paint/Water	5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water	5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water	5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water	5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water	5,000	0.62	3,100.00

CG ENVIRONMENTAL / CLEANING GUYS TAX ID: 26-4448858



The Cleaning Guys, LLC. 5255 Teague Road

PHONE # 817-483-8181 FAX # 817-483-5887

# Ft. Worth, TX 76140

INVOICE #	249113BB
DUE DATE:	6/23/2023

**INVOICE** 

INVOICE TO	
City of Killeen 101 N. College Street killeen, TX 76541	
ACCOUNTING / PAYMENT TERMS:	Net 30
ISSUED PURCHASE ORDER:	
VENDOR ID:	

	DUE DATE:	6/23/2023	
SITE LOCATION			
City of Killeen E. Elm and Cunningha Killeen, TX POC: Joe Stuart 254.768.4197	m Rd.		
RESPONSE COMPLETION	N DATE:	4/14/2023	
SALESPERSON:	Trey	Franklin	
INTERNAL CG JOB#		3-230387	
	· .		

ITEM	DESCRIPTION		QTY	UNIT PRICE	LINE TOTAL
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
Disposal Fee Per Gallon	Liquid: Paint/Water		5,000	0.62	3,100.00
ES&I Fee	ES&I Fee		1	1,126.16	1,126.16
24 Hr Emergeno	y Response Phone # 817-483-8181	SU	BTOTAL	!	\$155,306.29
CG ENVIRONMENTAL / CLEANING	GUYS TAX ID: 26-4448858	SALES TAX (o.o%)		\$0.00	
	a & Master Card. If you decide to pay by Credit Card,	TOTAL			\$155,306.29
please note, you will be charged a 3% non-refundable convenience fee. This fee will be added to the total amount due at the time the Credit Card payment is made.  ** Please Be Advised That a Monthly Late Fee of 3% of the Total Amount Due Will Be Charged on Overdue Payments**		PAYMENTS / CREDITS		CREDITS	\$0.00
		BALANCE DUE			\$155,306.29